CONVERGENCE OF TWO-STEP ITERATIVE SCHEME WITH ERRORS FOR TWO ASYMPTOTICALLY NONEXPANSIVE MAPPINGS

HAFIZ FUKHAR-UD-DIN and SAFEER HUSSAIN KHAN

Received 28 August 2003

A two-step iterative scheme with errors has been studied to approximate the common fixed points of two asymptotically nonexpansive mappings through weak and strong convergence in Banach spaces.

2000 Mathematics Subject Classification: 47H09, 49M05.

1. Introduction. In 1995, Liu [4] introduced iterative schemes with errors as follows.

(a) For a nonempty subset *C* of a normed space *E* and $T: C \to C$, the sequence $\{x_n\}$ in *C*, iteratively defined by

$$x_{1} = x \in C,$$

$$x_{n+1} = (1 - a_{n})x_{n} + a_{n}Ty_{n} + u_{n},$$

$$y_{n} = (1 - b_{n})x_{n} + b_{n}Tx_{n} + v_{n}, \quad n \ge 1,$$

(1.1)

where $\{a_n\}$, $\{b_n\}$ are sequences in [0,1] and $\{u_n\}$, $\{v_n\}$ are sequences in *E* satisfying $\sum_{n=1}^{\infty} ||u_n|| < \infty$, $\sum_{n=1}^{\infty} ||v_n|| < \infty$, is known as Ishikawa iterative scheme with errors.

(b) With *E*, *C*, and *T* as in (a), the sequence $\{x_n\}$, iteratively defined by

$$x_1 = x \in C, x_{n+1} = (1 - a_n)x_n + a_n T x_n + u_n, \quad n \ge 1,$$
(1.2)

where $\{a_n\}$ is a sequence in [0,1] and $\{u_n\}$ a sequence in *E* satisfying $\sum_{n=1}^{\infty} ||u_n|| < \infty$, is known as Mann iterative scheme with errors.

In 1999, Huang [2] studied the above schemes for asymptotically nonexpansive mappings. Recall that a mapping $T: C \to C$ is asymptotically nonexpansive if there is a sequence $\{k_n\} \subset [1, \infty)$ with $\lim_{n\to\infty} k_n = 1$ and $||T^nx - T^ny|| \le k_n ||x - y||$ for all $x, y \in C$ and for all $n \in \mathbb{N}$, where \mathbb{N} denotes the set of positive integers.

Moreover, in 2001, Khan and Takahashi [3] approximated the fixed points of two asymptotically nonexpansive mappings $S, T : C \to C$ through the sequence $\{x_n\}$ given by

$$x_{1} = x \in C,$$

$$x_{n+1} = (1 - a_{n})x_{n} + a_{n}S^{n}y_{n},$$

$$y_{n} = (1 - b_{n})x_{n} + b_{n}T^{n}x_{n},$$

(1.3)

where $\{a_n\}$, $\{b_n\}$ are sequences in [0,1] satisfying certain conditions.

Inspired and motivated by the study of the above schemes, we suggest a new iterative scheme $\{x_n\}$ in *C* constructed through a pair of asymtotically nonexpansive mappings $S, T : C \to C$ given by

$$x_{1} = x \in C,$$

$$x_{n+1} = (1 - a_{n})x_{n} + a_{n}S^{n}y_{n} + u_{n},$$

$$y_{n} = (1 - b_{n})x_{n} + b_{n}T^{n}x_{n} + v_{n}, \quad n \ge 1,$$
(1.4)

where $\{a_n\}$, $\{b_n\}$ are sequences in [0,1] with appropriate conditions and $\{u_n\}$, $\{v_n\}$ are sequences in *E* with $\sum_{n=1}^{\infty} ||u_n|| < \infty$, $\sum_{n=1}^{\infty} ||v_n|| < \infty$.

It is to be noted here that each of the above schemes follows as a special case of our scheme.

2. Preliminaries. Let *E* be a Banach space with *C* as its nonempty convex subset. Throughout this paper, \aleph denotes the set of positive integers and *F*(*T*) the set of fixed points of the mapping *T*. Now we list the following definitions and results used to prove the results in the next section.

DEFINITION 2.1. A mapping $T : C \to C$ is uniformly *k*-Lipschitzian if for some k > 0, $||T^nx - T^ny|| \le k||x - y||$ for all $x, y \in C$ and for all $n \in \mathbb{N}$.

DEFINITION 2.2. A mapping $T : C \to C$ is completely continuous if and only if $\{Tx_n\}$ has a convergent subsequence for every bounded sequence $\{x_n\}$ in *C*.

DEFINITION 2.3. *E* is said to satisfy Opial's condition [5] if for any sequence $\{x_n\}$ in *E*, $x_n - x$ implies that $\limsup_{n \to \infty} ||x_n - x|| < \limsup_{n \to \infty} ||x_n - y||$ for all $y \in E$ with $y \neq x$.

DEFINITION 2.4. A mapping $T : C \to E$ is called demiclosed with respect to $y \in E$ if for each sequence $\{x_n\}$ in *C* and each $x \in E$, $x_n \to x$ and $Tx_n \to y$ imply that $x \in C$ and Tx = y.

LEMMA 2.5 [6]. Suppose that *E* is a uniformly convex Banach space and $0 for all <math>n \in \mathbb{N}$. Also, suppose that $\{x_n\}$ and $\{y_n\}$ are two sequences of *E* such that $\limsup_{n\to\infty} ||x_n|| \le r$, $\limsup_{n\to\infty} ||y_n|| \le r$, and $\limsup_{n\to\infty} ||t_nx_n + (1-t_n)y_n|| = r$ hold for some $r \ge 0$. Then $\lim_{n\to\infty} ||x_n - y_n|| = 0$.

LEMMA 2.6 [7]. Let $\{r_n\}, \{s_n\}, \{t_n\}$ be three nonnegative sequences satisfying

$$r_{n+1} \le (1+s_n)r_n + t_n \quad \forall n \ge 1.$$

$$(2.1)$$

If $\sum_{n=1}^{\infty} s_n < \infty$ and $\sum_{n=1}^{\infty} t_n < \infty$, then $\lim_{n \to \infty} r_n$ exists.

LEMMA 2.7 [1]. Let *E* be a uniformly convex Banach space satisfying Opial's condition and let *C* be a nonempty closed convex subset of *E*. Let *T* be an asymptotically nonexpansive mapping of *C* into itself. Then I - T is demiclosed with respect to zero.

1966

3. Approximating common fixed points. We start with the following lemma.

LEMMA 3.1. Let *E* be a normed space and *C* a nonempty bounded closed convex subset of *E*. Let, for k > 0, *S* and *T* be uniformly *k*-Lipschitzian mappings of *C* into itself. Let $\{x_n\}$ be a sequence as defined in (1.4), where $\{u_n\}$, $\{v_n\}$ are sequences in *E* such that $\lim_{n\to\infty} ||u_n|| = 0 = \lim_{n\to\infty} ||v_n||$ and

$$\lim_{n \to \infty} ||x_n - S^n x_n|| = 0 = \lim_{n \to \infty} ||x_n - T^n x_n||.$$
(3.1)

Then

$$\lim_{n \to \infty} ||x_n - Sx_n|| = 0 = \lim_{n \to \infty} ||x_n - Tx_n||.$$
(3.2)

PROOF. Take $c_n = ||x_n - T^n x_n||$ and $d_n = ||x_n - S^n x_n||$. Consider

$$\begin{aligned} ||x_{n+1} - x_n|| &= ||a_n(S^n y_n - x_n) + u_n|| \\ &\leq a_n ||(S^n y_n - S^n x_n) + (S^n x_n - x_n)|| + ||u_n|| \\ &\leq a_n k ||(1 - b_n) x_n + b_n T^n x_n + v_n - x_n|| + a_n d_n + ||u_n|| \\ &= a_n k ||b_n(T^n x_n - x_n) + v_n|| + a_n d_n + ||u_n|| \\ &\leq a_n b_n c_n k + a_n k ||v_n|| + a_n d_n + ||u_n|| \\ &\leq c_n k + d_n + k ||v_n|| + ||u_n||. \end{aligned}$$
(3.3)

That is,

$$||x_{n+1} - x_n|| \le c_n k + d_n + k||v_n|| + ||u_n||.$$
(3.4)

Next, consider

$$||x_{n+1} - Sx_{n+1}|| = ||(x_{n+1} - S^{n+1}x_{n+1}) + (S^{n+1}x_{n+1} - Sx_{n+1})||$$

$$\leq d_{n+1} + k||(x_{n+1} - x_n) + (x_n - S^nx_n) + (S^nx_n - S^nx_{n+1})||$$

$$\leq d_{n+1} + kd_n + k(k+1)||x_{n+1} - x_n||$$

$$\leq d_{n+1} + kd_n + k(k+1)[c_nk + d_n + k||v_n|| + ||u_n||]$$
(3.5)

by (3.4). Taking limsup on both sides in the above inequality, we obtain

$$\limsup_{n \to \infty} ||x_{n+1} - Sx_{n+1}|| \le 0.$$
(3.6)

That is,

$$\lim_{n \to \infty} ||x_n - Sx_n|| = 0.$$
(3.7)

Similarly, we can prove that

$$\lim_{n \to \infty} ||x_n - Tx_n|| = 0.$$
(3.8)

This completes the proof of the lemma.

LEMMA 3.2. Let *E* be a uniformly convex Banach space and *C* its nonempty bounded closed convex subset. Let *S* and *T* be self-mappings of *C* satisfying

$$||S^{n}x - S^{n}y|| \le k_{n}||x - y||,$$

$$||T^{n}x - T^{n}y|| \le k_{n}||x - y||,$$

(3.9)

for all $n \in \mathbb{N}$, where $\{k_n\} \subset [1, \infty)$ such that $\sum_{n=1}^{\infty} (k_n - 1) < \infty$. Let $\{x_n\}$ be as in (1.4) with $\{a_n\}, \{b_n\}$ in $[\delta, 1-\delta]$ for some $\delta \in (0,1)$ and $\{u_n\}, \{v_n\}$ in E with $\sum_{n=1}^{\infty} ||u_n|| < \infty$, $\sum_{n=1}^{\infty} ||v_n|| < \infty$. If $F(S) \cap F(T) \neq \phi$, then $\lim_{n \to \infty} ||x_n - Sx_n|| = 0 = \lim_{n \to \infty} ||x_n - Tx_n||$.

PROOF. Let $p \in F(S) \cap F(T)$. Then

$$\begin{aligned} ||x_{n+1} - p|| \\ &= ||a_n(S^n y_n - p) + (1 - a_n)(x_n - p) + u_n|| \\ &\leq a_n k_n ||y_n - p|| + (1 - a_n)||x_n - p|| + ||u_n|| \\ &= a_n k_n ||(1 - b_n)x_n + b_n T^n x_n + v_n - p|| + (1 - a_n)||x_n - p|| + ||u_n|| \\ &= a_n k_n ||b_n(T^n x_n - p) + (1 - b_n)(x_n - p) + v_n|| + (1 - a_n)||x_n - p|| + ||u_n|| \\ &\leq a_n b_n k_n^2 ||x_n - p|| + a_n k_n ||v_n|| + a_n (1 - b_n) k_n ||x_n - p|| + (1 - a_n)||x_n - p|| + ||u_n|| \\ &= (1 + a_n b_n k_n^2 + a_n (1 - b_n) k_n - a_n) ||x_n - p|| + a_n k_n ||v_n|| + ||u_n||. \end{aligned}$$

$$(3.10)$$

Since $\{k_n\}$ is a bounded sequence, therefore there exists h > 0 such that $k_n \le h$ for all $n \ge 1$ so that

$$||x_{n+1} - p|| \le [1 + a_n b_n h(k_n - 1) + a_n(k_n - 1)]||x_n - p|| + a_n h||v_n|| + ||u_n||.$$
(3.11)

Take $s_n = a_n b_n h(k_n - 1) + a_n(k_n - 1)$, $t_n = a_n h ||v_n|| + ||u_n||$, and $r_n = ||x_n - p||$. As $\sum_{n=1}^{\infty} s_n < \infty$ and $\sum_{n=1}^{\infty} t_n < \infty$, so $\lim_{n\to\infty} ||x_n - p||$ exists by Lemma 2.6. Let $\lim_{n\to\infty} ||x_n - p|| = c$, where $c \ge 0$ is a real number. Assume that c > 0, as the result for the case c = 0 is obviously true. Now $||T^n x_n - p|| \le k_n ||x_n - p||$ for all $n \in \mathbb{N}$ gives $\limsup_{n\to\infty} ||T^n x_n - p|| \le c$. Also,

$$||y_n - p|| = ||b_n(T^n x_n - p) + (1 - b_n)(x_n - p) + v_n||$$

$$\leq ||x_n - p|| + (k_n - 1)b_n||x_n - p|| + ||v_n||$$
(3.12)

gives

$$\limsup_{n \to \infty} ||y_n - p|| \le c.$$
(3.13)

Next, consider

$$||S^{n} y_{n} - p + a_{n}^{-1} u_{n}|| \le k_{n} ||y_{n} - p|| + a_{n}^{-1} ||u_{n}|| \le k_{n} ||y_{n} - p|| + \frac{1}{\delta} ||u_{n}||.$$
(3.14)

By the above inequality and by virtue of $||u_n|| \to 0$ and $k_n \to 1$ as $n \to \infty$, we get

$$\limsup_{n \to \infty} ||S^n \mathcal{Y}_n - p + a_n^{-1} u_n|| \le c.$$
(3.15)

Moreover, $c = \lim_{n \to \infty} ||x_{n+1} - p||$ means that

$$\lim_{n \to \infty} ||a_n (S^n y_n - p + a_n^{-1} u_n) + (1 - a_n) (x_n - p)|| = c.$$
(3.16)

Applying Lemma 2.5,

$$\lim_{n \to \infty} ||S^n y_n - x_n + a_n^{-1} u_n|| = 0.$$
(3.17)

Thus

$$||S^{n} y_{n} - x_{n}|| \le ||S^{n} y_{n} - x_{n} + a_{n}^{-1} u_{n}|| + \frac{1}{\delta} ||u_{n}||$$
(3.18)

yields that

$$\lim_{n \to \infty} ||S^n \mathcal{Y}_n - \mathcal{X}_n|| = 0.$$
(3.19)

Also, then

$$||x_n - p|| \le ||x_n - S^n y_n|| + ||S^n y_n - p|| \le ||x_n - S^n y_n|| + k_n ||y_n - p||$$
(3.20)

implies that

$$c \le \liminf_{n \to \infty} || y_n - p ||. \tag{3.21}$$

By (3.13) and (3.21), we obtain

$$\lim_{n \to \infty} ||y_n - p|| = c.$$
(3.22)

That is,

$$\lim_{n \to \infty} ||b_n (T^n x_n - p + b_n^{-1} v_n) + (1 - b_n) (x_n - p)|| = c.$$
(3.23)

Again by Lemma 2.5, we get

$$\lim_{n \to \infty} ||T^n x_n - x_n + b_n^{-1} v_n|| = 0,$$
(3.24)

which finally gives that

$$\lim_{n \to \infty} ||T^n x_n - x_n|| = 0.$$
(3.25)

Now

$$||S^{n}x_{n} - x_{n}|| \leq ||S^{n}x_{n} - S^{n}y_{n}|| + ||S^{n}y_{n} - x_{n}|| \leq k_{n}b_{n}||T^{n}x_{n} - x_{n}|| + ||v_{n}|| + ||S^{n}y_{n} - x_{n}||$$
(3.26)

implies, together with (3.19) and (3.25), that

$$\lim_{n \to \infty} ||S^n x_n - x_n|| = 0 = \lim_{n \to \infty} ||T^n x_n - x_n||.$$
(3.27)

Lemma 3.1 now reveals that

$$\lim_{n \to \infty} ||Sx_n - x_n|| = 0 = \lim_{n \to \infty} ||Tx_n - x_n||,$$
(3.28)

which is as desired.

THEOREM 3.3. Let *E* be a uniformly convex Banach space satisfying Opial's condition and let *C*, *S*, *T*, and $\{x_n\}$ be as taken in Lemma 3.2. If $F(S) \cap F(T) \neq \phi$, then $\{x_n\}$ converges weakly to a common fixed point of *S* and *T*.

PROOF. Let $p \in F(S) \cap F(T)$. Then, as proved in Lemma 3.2, $\lim_{n\to\infty} ||x_n - p||$ exists. Now we prove that $\{x_n\}$ has a unique weak subsequential limit in $F(S) \cap F(T)$. To prove this, let w_1 and w_2 be weak limits of the subsequences $\{x_{n_i}\}$ and $\{x_{n_j}\}$ of $\{x_n\}$, respectively. By Lemma 3.2, $\lim_{n\to\infty} ||x_n - Sx_n|| = 0$ and I - S is demiclosed with respect to zero by Lemma 2.7; therefore, we obtain $Sw_1 = w_1$. Similarly, $Tw_1 = w_1$. Again, in the same way, we can prove that $w_2 \in F(S) \cap F(T)$. Next, we prove the uniqueness. For this, suppose that $w_1 \neq w_2$; then by Opial's condition,

$$\begin{split} \lim_{n \to \infty} ||x_n - w_1|| &= \lim_{n_i \to \infty} ||x_{n_i} - w_1|| < \lim_{n_i \to \infty} ||x_{n_i} - w_2|| \\ &= \lim_{n \to \infty} ||x_n - w_2|| = \lim_{n_j \to \infty} ||x_{n_j} - w_2|| \\ &< \lim_{n_j \to \infty} ||x_{n_j} - w_1|| = \lim_{n \to \infty} ||x_n - w_1||, \end{split}$$
(3.29)

a contradiction. Hence the proof is over.

REMARK 3.4. If we take $u_n = v_n = 0$ for all $n \in \mathbb{N}$, the above theorem reduces to [3, Theorem 1] of Khan and Takahashi. Moreover, [6, Theorem 2.1] of Schu becomes a special case of the above theorem when $u_n = v_n = 0$ as well as T = I, the identity mapping.

Finally, we approximate common fixed points by the following strong convergence theorem.

THEOREM 3.5. Let *E* be a uniformly convex Banach space and *C* its bounded closed convex subset. Let *S*, *T*, and $\{x_n\}$ be as taken in Lemma 3.2. If $F(S) \cap F(T) \neq \phi$ and either *S* or *T* is completely continuous, then $\{x_n\}$ converges strongly to a common fixed point of *S* and *T*.

PROOF. Assume that $T: C \to C$ is completely continuous. Since $\{x_n\}$ is a bounded sequence and T is completely continuous, therefore $\{Tx_n\}$ must have a convergent subsequence $\{Tx_{n_i}\}$. Hence by (3.28), $\{x_n\}$ must have a subsequence $\{x_{n_i}\}$ such that $x_{n_i} \to q$ (say) in C as $n_i \to \infty$. Now continuity of S and T gives that $Sx_{n_i} \to Sq$ and $Tx_{n_i} \to Tq$ as $n_i \to \infty$. Then, again by (3.28), $\|Sq - q\| = 0 = \|Tq - q\|$. This yields that $q \in F(S) \cap F(T)$ so that $\{x_{n_i}\}$ converges strongly to q in $F(S) \cap F(T)$. As proved in

1970

Lemma 3.2, $\lim_{n\to\infty} ||x_n - p||$ exists for all $p \in F(S) \cap F(T)$; therefore, $\{x_n\}$ must itself converge to $q \in F(S) \cap F(T)$. Hence the proof.

REMARK 3.6. If we put T = I, $v_n = 0$ in the above theorem, then [2, Theorem 1] of Huang is obtained. When we take S = T in the above theorem, then [2, Theorem 2] of Huang follows except when $b_n = 0$. Since a self-mapping with compact domain is completely continuous, therefore [3, Theorem 2] of Khan and Takahashi can also be obtained by putting $u_n = v_n = 0$. It is also worth mentioning that the results presented in this paper are for two mappings while the results in Huang [2] are for one mapping only. Meanwhile, calculations in this paper are made much simpler as compared to Huang [2].

REFERENCES

- J. Górnicki, Weak convergence theorems for asymptotically nonexpansive mappings in uniformly convex Banach spaces, Comment. Math. Univ. Carolin. 30 (1989), no. 2, 249– 252.
- [2] Z. Huang, Mann and Ishikawa iterations with errors for asymptotically nonexpansive mappings, Comput. Math. Appl. 37 (1999), no. 3, 1–7.
- [3] S. H. Khan and W. Takahashi, Approximating common fixed points of two asymptotically nonexpansive mappings, Sci. Math. Jpn. 53 (2001), no. 1, 143–148.
- [4] L. S. Liu, Ishikawa and Mann iterative process with errors for nonlinear strongly accretive mappings in Banach spaces, J. Math. Anal. Appl. 194 (1995), no. 1, 114-125.
- [5] Z. Opial, Weak convergence of the sequence of successive approximations for nonexpansive mappings, Bull. Amer. Math. Soc. 73 (1967), 591–597.
- [6] J. Schu, Weak and strong convergence to fixed points of asymptotically nonexpansive mappings, Bull. Austral. Math. Soc. 43 (1991), no. 1, 153–159.
- Y. Zhou and S. S. Chang, *Convergence of implicit iteration process for a finite family of asymptotically nonexpansive mappings in Banach spaces*, Numer. Funct. Anal. Optim. 23 (2002), no. 7-8, 911–921.

Hafiz Fukhar-ud-din: Department of Mathematics, Islamia University, Bahawalpur, Pakistan *E-mail address*: hfdin@yahoo.com

Safeer Hussain Khan: Ghulam Ishaq Khan Institute of Engineering Sciences and Technology, Topi 23460, Swabi, North-Western Frontier Province (N.W.F.P.), Pakistan

E-mail address: safeer@giki.edu.pk